R#ETZAE 58 EAZZADHE 02
1L %o &30k (S35, A1, BHR25, CHR35308)

(1 9AIHEsAWHAN|  |[AKTT.

@ 2A2H®0|  |HEE3ALHETT. (533ETEEW)

3 s5A2HE4A29H0  |B®TT.

4 10AIAD|  |A%E12A3HTY.

(5) 12A2H®|  |AtE2A1HTYT.
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2. Zo|  |mS50k (SWASH, AB1D20H, BRI, CR3H30H)

(1) 9AIBHRTHBHD[ |AKTY.

20 4A3H®|  |H#E5A13HTT.

(3) TH2HIE5A2AuHD[  |A®TY.

@ 10AHIHD|  |A%E12H2HTY.

() 12A5H0[ |H#%E2H4HTT.
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R#7R b+ 58 ELZAOB® 02 #HERESR

1L %o &30k (S35, A1, BHR25, CHR35308)

* Nzl xesn] 130 HELR
Iz L Tp < 2LH0»
2 H 4H | 6H | 9H 11 A
28H (2% 541329H) |30H |30H |30H | 30H

TELLV I T rE VR FEETFOTE—ICRZAADTIL A2 XT.
- EAMOA TMA-3A-5H-7H-8H10H 12 ] X 31 H.

(1) 9AISHESHBHD|[ | AKTT.
9A1H=8H46H < 8HIF3H

= 46 —28 =18 H%.

@ 2A25H®0|  |HEE3ALHETY. (533ETERW)
SHIIH=2H39H < 2HE28H

= 39-25=14 H%.

3 s5A2EE4A29A80]  |A®TT.
5H2H=4H32H <4H1330H

= 32-29=3 H..

4 1W0ABHS|  |AfE12A3ATY.

12H3H = 11H33H <« 11HIZ30H
10H64H <« 10HWE31H

= 64—15=49 H%.

(5) 12A2H®|  |AtiE2A1HTYT.

2H1H = 1H32H < 1HWIE31H
= 12H63H <« 12HII31H

= 63 —25=38 Hf%.
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RO | |ES0E (SHASH, A1 208, B2 108, O35 308H)
(1) 9AIBHRTHBHD[ |AKTY.

9H15H = 8H46H <« 8HIZ31H
THTH < THWE31H

= 77-25=52 Hf%.

2) 4H3HO| |H#&E5H13HTY.
5A13H = 48438 <« 4813300

= 43 -3 =40 H%.

3) 7TH2HIEsSH2AuHO[  |HE®TT.

TH22H = 6H52H <« 6HIZ30H
5H8H <« 5HIE3LH

= 83-24=59 Hf%.

4 10ABHS| A2 A2ATY.

12A2H = 11H32H <« 11 HE30H
10H63H <« 10HIE31H

= 63—15=48 Hf%.

(5) 12A5HO[  |H#%E2H4HTT.

2H4H = 1H3H < 1HWE31H
12H66H <« 12HIE31H

= 66—5=61 H%.
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